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Test Center Name
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Section : Part | General English

Q.1 In the sentence "Having finished his homework, John watched TV," what type of

clause is "Having finished his homework"?
Ans  «# 1. Subordinate clause

& 2. Adjective clause

/< 3. Adverbial clause

& 4. Independent clause

Question ID

Option 2 ID

: 630680453684
Option 11D :

6306801771721

: 6306801771722
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801771723
6306801771720
Not Answered




Comprehension:

Read the following passage and answer the questions below.

William Shakespeare, celebrated as the greatest playwright in history, has profoundly shaped
literature and theater. Through works like "Hamlet," "Macbeth," and "Othello," he explores
enduring themes of human nature, ambition, love, and the consequences of moral choices.
Shakespeare's timeless words continue to resonate, offering profound insights into the human
condition.

In "Hamlet," he delves into the complexities of the human psyche and the moral quandaries
faced by Prince Hamlet. "Macbeth" explores the perils of unchecked ambition, while "Othello"
examines the destructive force of jealousy and mistrust within relationships.

Shakespeare's enduring appeal lies in his poetic language and universal themes, making his
works relevant across cultures and time periods. His influence in the world of theater remains
unparalleled, inspiring generations of artists and actors.In summary, William Shakespeare's
exploration of themes like human nature, ambition, and love, coupled with his masterful use
of language, ensures his legacy continues to captivate and enlighten audiences worldwide.

SubQuestion No : 2

Q.2 What themes does William Shakespeare explore in his works like "Hamlet,” "Macbeth,"
and "Othello"?

Ans «” 1. Human nature, ambition, love, and moral choices
#< 2. Science and technology
< 3. Politics and economics

#< 4. Historical events and figures

Question ID : 630680453667
Option 1 ID : 6306801771661
Option 2 ID : 6306801771660
Option 3 ID : 6306801771662
Option 4 ID : 6306801771663
Status : Answered

Chosen Option : 1

Comprehension:

Read the following passage and answer the questions below.

William Shakespeare, celebrated as the greatest playwright in history, has profoundly shaped
literature and theater. Through works like "Hamlet," "Macbeth," and "Othello," he explores
enduring themes of human nature, ambition, love, and the consequences of moral choices.
Shakespeare's timeless words continue to resonate, offering profound insights into the human
condition.

In "Hamlet," he delves into the complexities of the human psyche and the moral quandaries
faced by Prince Hamlet. "Macbeth" explores the perils of unchecked ambition, while "Othello"
examines the destructive force of jealousy and mistrust within relationships.

Shakespeare's enduring appeal lies in his poetic language and universal themes, making his
works relevant across cultures and time periods. His influence in the world of theater remains
unparalleled, inspiring generations of artists and actors.In summary, William Shakespeare's
exploration of themes like human nature, ambition, and love, coupled with his masterful use
of language, ensures his legacy continues to captivate and enlighten audiences worldwide.

SubQuestion No : 3
Q.3 Which of the following best describes Shakespeare's use of language in his works?
Ans  «# 1.Itis poetic and contributes to his enduring appeal.

X 2. ltis overly simplistic.
X 3. Itis difficult to understand.

X 4. ltis irrelevant to the themes of his plays.

Question ID : 630680453665
Option 1 ID : 6306801771654
Option 2 ID : 6306801771652
Option 3 ID : 6306801771653
Option 4 ID : 6306801771655
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage and answer the questions below.

William Shakespeare, celebrated as the greatest playwright in history, has profoundly shaped
literature and theater. Through works like "Hamlet," "Macbeth," and "Othello," he explores
enduring themes of human nature, ambition, love, and the consequences of moral choices.
Shakespeare's timeless words continue to resonate, offering profound insights into the human
condition.

In "Hamlet," he delves into the complexities of the human psyche and the moral quandaries
faced by Prince Hamlet. "Macbeth" explores the perils of unchecked ambition, while "Othello"
examines the destructive force of jealousy and mistrust within relationships.

Shakespeare's enduring appeal lies in his poetic language and universal themes, making his
works relevant across cultures and time periods. His influence in the world of theater remains
unparalleled, inspiring generations of artists and actors.In summary, William Shakespeare's
exploration of themes like human nature, ambition, and love, coupled with his masterful use
of language, ensures his legacy continues to captivate and enlighten audiences worldwide.

SubQuestion No : 4

Q.4 Which of the following best summarizes the passage?

Ans X 1. William Shakespeare's plays are primarily focused on historical events and political
choices, making them relevant across cultures.

«® 2. William Shakespeare is a celebrated playwright who wrote about various themes in
his works, and his legacy continues to inspire artists and actors worldwide.

#< 3. William Shakespeare is known for his technical innovations in the world of theater.

25 4. William Shakespeare's works are outdated and no longer resonate with modern
audiences.

Question ID : 630680453666
Option 1 ID : 6306801771657
Option 2 ID : 6306801771656
Option 3 ID : 6306801771659
Option 4 ID : 6306801771658
Status : Answered
Chosen Option : 2

Comprehension:
Read the following passage and answer the questions below.

William Shakespeare, celebrated as the greatest playwright in history, has profoundly shaped
literature and theater. Through works like "Hamlet," "Macbeth," and "Othello," he explores
enduring themes of human nature, ambition, love, and the consequences of moral choices.
Shakespeare's timeless words continue to resonate, offering profound insights into the human
condition.

In "Hamlet," he delves into the complexities of the human psyche and the moral quandaries
faced by Prince Hamlet. "Macbeth" explores the perils of unchecked ambition, while "Othello"
examines the destructive force of jealousy and mistrust within relationships.

Shakespeare's enduring appeal lies in his poetic language and universal themes, making his
works relevant across cultures and time periods. His influence in the world of theater remains
unparalleled, inspiring generations of artists and actors.In summary, William Shakespeare's
exploration of themes like human nature, ambition, and love, coupled with his masterful use
of language, ensures his legacy continues to captivate and enlighten audiences worldwide.

SubQuestion No : 5
Q.5 What is a synonym for "quandaries" in the passage?
Ans X 1. Solutions

@ 2. Dilemmas
< 3. Ambiguities
X 4. Certainties

Question ID : 630680453668
Option 1 ID : 6306801771665
Option 2 ID : 6306801771664
Option 3 ID : 6306801771667
Option 4 ID : 6306801771666
Status : Not Answered
Chosen Option : ==




Comprehension:
Read the given poem and answer the questions based on it:

Listen

with the night falling we are saying thank you

we are stopping on the bridges to bow from the railings
we are running out of the glass rooms

with our mouths full of food to look at the sky

and say thank you

we are standing by the water thanking it

standing by the windows looking out

in our directions

back from a series of hospitals back from a mugging
after funerals we are saying thank you

after the news of the dead

whether or not we knew them we are saying thank you

SubQuestion No : 6
Q.6 How is the passage structured in terms of its organization?
Ans ¢ 1. Thematic progression

#< 2. Chronological order
X 3. Cause and effect

#< 4. Random arrangement

Question ID : 630680453702
Option 1 ID : 6306801771779
Option 2 ID : 6306801771776
Option 3 ID : 6306801771777
Option 4 ID : 6306801771778
Status : Answered
Chosen Option : 1




Comprehension:
Read the given poem and answer the questions based on it:

Listen

with the night falling we are saying thank you

we are stopping on the bridges to bow from the railings
we are running out of the glass rooms

with our mouths full of food to look at the sky

and say thank you

we are standing by the water thanking it

standing by the windows looking out

in our directions

back from a series of hospitals back from a mugging
after funerals we are saying thank you

after the news of the dead

whether or not we knew them we are saying thank you

SubQuestion No : 7
Q.7 Why are people stopping on the bridges according to the passage?
Ans X 1. To avoid traffic

75 2. To rest from their journey
£ 3. To admire the view

«” 4. To look at the sky and express gratitude

Question ID : 630680453704
Option 1 ID : 6306801771786
Option 2 ID : 6306801771787
Option 3 ID : 6306801771784
Option 4 ID : 6306801771785
Status : Answered
Chosen Option : 4




Q.8
Ans

Comprehension:
Read the given poem and answer the questions based on it:

Listen

with the night falling we are saying thank you

we are stopping on the bridges to bow from the railings
we are running out of the glass rooms

with our mouths full of food to look at the sky

and say thank you

we are standing by the water thanking it

standing by the windows looking out

in our directions

back from a series of hospitals back from a mugging
after funerals we are saying thank you

after the news of the dead

whether or not we knew them we are saying thank you

SubQuestion No : 8
Which of the following summarizes the passage accurately?

«” 1. The narrator expresses gratitude for the beauty of the night and various life
experiences.

& 2. The narrator describes their travels and adventures in different settings.
< 3. The narrator reflects on the sadness of hospital visits and-mugging incidents.

75 4. The narrator discusses the significance of funerals and-paying respects to the
deceased.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453703
6306801771780
6306801771781
6306801771782
6306801771783
Answered

1




Comprehension:
Read the given poem and answer the questions based on it:

Listen

with the night falling we are saying thank you

we are stopping on the bridges to bow from the railings
we are running out of the glass rooms

with our mouths full of food to look at the sky

and say thank you

we are standing by the water thanking it

standing by the windows looking out

in our directions

back from a series of hospitals back from a mugging
after funerals we are saying thank you

after the news of the dead

whether or not we knew them we are saying thank you

SubQuestion No : 9
Q.9 What is the overall tone of the passage?

Ans X 1.Fear and anxiety
#< 2. Sadness and regret
«” 3. A sense of nostalgia and reflection

25 4. Joy and celebration

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453705
6306801771791
6306801771788
6306801771790
6306801771789
Answered

3

Q.10 In the sentence "Despite her exhaustion, she kept running,” what is the function of the
word "Despite"?

Ans X 1.Adjective
&K 2. Verb
< 3. Noun

& 4. Preposition

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453683
6306801771719
6306801771717
6306801771716
6306801771718
Not Answered

Section : Part 1 General Odia




Q1 6Q- 699 TR 8g?
Ans X' 1. g8
o 2. 9910 G 9gen

X 3.9%1a
X 4. gaal
Question ID : 630680452620
Option 1 ID : 6306801767522
Option 2 ID : 6306801767521
Option 3 ID : 6306801767520
Option 4 ID : 6306801767519
Status : Answered
Chosen Option : 2
Comprehension:
FIMGIS RUIPEg IRg 9K° 9LI 2RINER 9L 2@ GUg:
2189 QR
§6 62 I8 QIR | §Q F9QIg 96 F9RIg
A8 998 QIE |
413 eegled AIRQ 9l GAU6E GLg 26,
S gerhe, MIFS, 986, AITe /¥4 RIAI6R,
9 962 AR GT,
eda LI, FJQUR L1 as@” g B4R Q9IS
§61 62 8Y QR !
¢S Q@19 AU G671 1R IR QL@ 2
SubQuestion No : 2
Q2 Q2 dUIPF6R “AQRIg 6R “ARQI"69Q SUSNES 99 ?
Ans 71 GeEaY
X 2. 50l Gegn4l
X 3.568184
X 4.8
Question ID : 630680452643
Option 1 ID : 6306801767595
Option 2 ID : 6306801767597
Option 3 ID : 6306801767598
Option 4 ID : 6306801767596
Status : Not Answered

Chosen Option :




Q.3
Ans

Comprehension:
FANGIS dQUIPEIg IR 98° YLl ARINER YIPLRR Qe Fag:

ade QIR

46 62 7189 QIR | §A FA8Ig 9§ FaSIg
718 89 Q13 | o

86 26969 QAIRS 2°AIR FAI6E BTG 2N6T,
Sa gsrae, MIFe, o8e, 11T6 K94 FIaI6S,
4 962 19 Ga8,

§°99 Qg1 g4 g1 6L 1 FEIR GEIET
¢é 62 188 QIR !

266 @19 9817 G661 19d SR QIS 2

SubQuestion No : 3
6096 SAITE SIQY ?
o 1.6 62 88 QR !

X 2. 24 613 9816 §6¢1 €108 §FIR QIE ?
X 3.9g6<AI9Q GAG |
X 4. 988 6a8 Q1% |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680452644
6306801767601
6306801767602
6306801767600
6306801767599
Answered

4




Q.4
Ans

Comprehension:

FANGIS dQUIPEIg IR 98° YLl ARINER YIPLRR QA FaG:

a8 QI
g6 62 F88 QIR | §A ARRIG 97 FGSIg
98 6e8 Q18 |

§6 259169 QIR 2°AQ FAU6H FEG 2NN,
T gerhe, AIFS, 986, U156 K84 RIA6R,

4 962 19 Ga8,
§°9a Qg1 U9 dIg1 96€ 1 F4IR GG
461 62 CI8F QIR !

266 @19 9817 G661 19d SR QIS 2
SubQuestion No : 4
6902I2I9 A8Y FF 62IRFIE ?

o 1. €8 98919 97 FRelg

X 2. 253 88 62919

X 3.9%9l1g

X 4.50919

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680452642
6306801767592
6306801767594
6306801767593
6306801767591
Answered

1




Comprehension:
FANGIS dQUIPEIg IR 98° YLl ARINER YIPLRR R Fag:

89 QR
g4 62 (188 AUR | R ARG §F ARIg
98 6e8 Q18 |
€6 269169 2IRe L°dia FaI6E Fae 2TI6,
3 gsrie, Mo, a80, 4156 a¥d FIAU6S,
4 962 19 Ga8,
Y°9R IR, U 2IG1 68 9 FEIR FEIST
g6 62 €188 QUR !
266 @13 99IF G651 198 §AIR IL 2
SubQuestion No : 5
Q5 “Gee” e 22 ad?
Ans #1499
X 2. g4l
X 3.2919
X 408

Question ID : 630680452645
Option 1 ID : 6306801767605
Option 2 ID : 6306801767604
Option 3 ID : 6306801767606
Option 4 ID : 6306801767603
Status : Answered
Chosen Option : 1

Comprehension:
FINGS FQUIPEG Qg 9L° gl ARIFER YYLan AR QA:

dqe @

661l 1999 deIF @6 OF 2662R AYI6H FERI | 61 T6H 661l 628 ARSI FGQ ARG 89 @F
62ml ¢ 9RAIER K191 68G6R, A1 AGPER, AIFI ALLIER, FIFI YK6R, AU IR 0RR; 7
0aa% SYRI; 98l @ JRIR A6UNR S8 | 9 1 IR IR KGe8, IRULES, AFRSS,
acleaees, A°CIRGs, FULNSS, ATCYGS YURR 26aass 9F 999 QUde 6w 69119
‘AYANE” 2RIY RS 62IRAR | 697G FIQ FIS YT Q65 2IRIY ARG AN
Qe 98 6212 |

SubQuestion No : 6
Q.6 “9g] & SRR ACAIN FHA” | 9T FIFU6R 696817 G2 96 ARE?
Ans X' 1. 09
X 2.0
¥ 3. 00
K 4,00

Question ID : 630680452597
Option 1 ID : 6306801767440
Option 2 ID : 6306801767442
Option 3 ID : 6306801767441
Option 4 ID : 6306801767439
Status : Answered
Chosen Option : 3




Comprehension:
FANGIOS FIQUI°EIg IR 98° ¥l 2ARIFEA JIFERR Qe GaG:

d9e @

661l 1999 deIF Q6 OF 2662R AYI6R TERI | 61 A6 661l 62 ARSI FGQ ARG 89 G F
62ml  9R2I6Q Q1G] 68G6S, FIRI AUGFER, QIR ARLIER, FIRI Y6, TR IRIER 0RR; g
0RRA figelE; 92l € eIR 2R T8 | 9 1d QIR FRIER GGES, TAI26S, AFIRGS,
ael6uges, SraIngs, U9Ifes, daGYes YURE 6Rass 9 999 SYBe 66 67l
‘AGANG” 2RIY RS 62RAR | 697G FUIQ FFHS FUBE D6a 2IRIY ARG A
QReR 9% 6212 |

SubQuestion No : 7
Q7 6296 “62g” saq 2 ?
Ans X 1.369@
X 2.5
o 3. 818
X 4.908Y

Question ID : 630680452596
Option 1 ID : 6306801767436
Option 2 ID : 6306801767437
Option 3 ID : 6306801767435
Option 4 ID : 6306801767438
Status : Answered
Chosen Option : 1

Comprehension:
FINGS dQUIPEg Qg IK° Ll ARINER FYean AaR QAU:

d9e @

661l 1999 deIF Q6 F 2662R AYIER TERI | 61 A6 661l 628 ARSI FAQ ARG 89 G F
62ml  9R2I6Q Q19| 6869, FIRI IUGF6R, QIRI ARLI6R, FIRI JN6S, TG YRIER 0RE; g
0598 Fgals; 92l & Je1a A6 80 | 9 Q1d QIR FI6R GFG8, CIL6S, AAIRGS,
acl6uges, SraIngs, U9gIfes, dEeYes YURE 26rass 9 999 SYBe 66 67l
‘YA’ 2RIY RS 6LIRAR | 69TNIGR FRUIQ TS FUDF 6P 2IRIY ARG 2SI
QReR At 6212 |

SubQuestion No : 8
Q.8 «ggaq1e”-9g sea 22 e461?
Ans 2 1. 96U d98
X 2.9leGq
X 3.949le
X 4. dIeqle

Question ID : 630680452598
Option 1 ID : 6306801767445
Option 2 ID : 6306801767443
Option 3 ID : 6306801767446
Option 4 ID : 6306801767444
Status : Answered
Chosen Option : 1




Comprehension:
FANGIES FIQUI°EIg IR 98° YLl 2ARIFER JIFLRR Qe GaG:

d9e @

69 F1999 gaIFl 94 9Ff 26626 29I6R TERI | 81 U6 661l 62§ ARSI TR ARG 89 9
62l §f 9R2U6R FIQI 63868, IFI AGFER, FIRI ASLIER, QIR YFER, FIFI IRIER 0RE; 7

0G93 FigalE; J2l € INIA AT T8 | 9 Q1] FIF FI6R KRG8, TILS8, AFNFSS,
acleages, 2°aIaes, URLINGS, 9EEY6E YUAR 268968 9 dag SUBE e 6619

‘99915’ 2IRIY IR0 62IRAR | 62719R FIQ LTI QU A65P 2RI IS 2693

QRe9 e 6QIRAR |

SubQuestion No : 9
Q9 R1999 gae @619d 680 ARAICS FEYMICTIN 6AGIF FERT?

Ans X' 1. 2899
X 2. 28620
o 3. 26eLD
X 4. 286Q4!
Question ID : 630680452595
Option 1 ID : 6306801767434
Option 2 ID : 6306801767431
Option 3 ID : 6306801767432
Option 4 ID : 6306801767433
Status : Answered
Chosen Option : 3
Q.10 QIFASNR- 9! 68Q AeL?
Ans 1. QARG
X 2.99
X 3.99
X 4.9991%8
Question ID : 630680452621
Option 1 ID : 6306801767523
Option 2 ID : 6306801767525
Option 3 ID : 6306801767524
Option 4 ID : 6306801767526
Status : Answered
Chosen Option : 1
Section : Part 1 General Knowledge and Current Affairs
Q.1 Identify the Freedom Fighter:-He is widely regarded as a hero of the jungle or Manyam
Veerudu by the local people for his bravery and sacrifice:
Ans X 1.Kharia
& 2. Alluri Sitarama Raju
& 3. Tilka Majhi
< 4.Birsa Munda
Question ID : 630680453377
Option 1 ID : 6306801770519
Option 2 ID : 6306801770516
Option 3 ID : 6306801770518
Option 4 ID : 6306801770517
Status : Answered
Chosen Option : 2




Q.2 The 17th Century witnessed the establishment of English trade in Odisha. First factory

in Hariharpur was established in:-

Ans X 1.1933

K 2.1722
#< 3.1833
o 4.1633
Question ID : 630680453353
Option 1 ID : 6306801770421
Option 2 ID : 6306801770423
Option 3 ID : 6306801770422
Option 4 ID : 6306801770420
Status : Answered
Chosen Option : 2
Q3 guFIesa RIRSAING WI6S @&lgéll 26T |
Ans X' 1. 2ITRRGD (apiculture)
X 2. 25emea (horticulture)
o 3. AIRSRSA (aviculture)
X 4. QQ18MSQ (viniculture)
Question ID : 630680453371
Option 1 ID : 6306801770493
Option 2 ID : 6306801770495
Option 3 ID : 6306801770492
Option 4 ID : 6306801770494
Status : Answered
Chosen Option : 3
Q.4 201569 999 FLIN69'C 604ad 499 QUG ?IQI.ZIQIQG SQ161 €1 I6Y6TTM
6C6UMUEEIE dift 2030 I6WEI IE6l @AULINYMI, 6DRQIERN S QA AlaeR
cRISER ST 6 495 dIR 99 Rd4 9918 SAUAIRE |
Ans X 1.07
X 2.37
X 3.27
o 417
Question ID : 630680453347
Option 1 ID : 6306801770399
Option 2 ID : 6306801770398
Option 3 ID : 6306801770397
Option 4 ID : 6306801770396
Status : Not Answered

Chosen Option :




Q.5

serves both as the repository of genetic information and as the cell's control
center.

Ans o 1. Nucleus
< 2. Lipids
< 3. Golgi
X 4. Ribosomes
Question ID : 630680453359
Option 1 ID : 6306801770447
Option 2 ID : 6306801770445
Option 3 ID : 6306801770444
Option 4 ID : 6306801770446
Status : Answered
Chosen Option : 1
Q.6 The need for diversification arises from the fact that there is risk in depending
exclusively on farming for livelihood.
Ans 1. greater
&K 2.no
X 3. least
< 4. lower
Question ID : 630680453365
Option 1 ID : 6306801770468
Option 2 ID : 6306801770470
Option 3 ID : 6306801770471
Option 4 ID : 6306801770469
Status : Answered
Chosen Option : 1
Q7 g@1, Qle GI(-ﬁQ ae APl @S, , 2SEFI 98° gear oft° 9oe 62a8 9719 gRIaa
IS, FIFl KRS 28R §R6R 2SI 6ELINTE QU6 §6619 RIS AqIngle |
Ans X 1.69@
X 2.90 2Re
o 3. 68 gegsIa
X 4. @0 Q18I
Question ID : 630680453389
Option 1 ID : 6306801770564
Option 2 ID : 6306801770565
Option 3 ID : 6306801770566
Option 4 ID : 6306801770567
Status : Answered
Chosen Option : 3




Q.8 1888 69 2N 62IRYS! QUSE @ T2 AF0I YR&ll FIER IT6LISNE! 268,
69192691 2023 691 9T 99 GESI AIRY 6£1ILE QIGlT LU RN, A 6SPAG LAURARI |

Ans .7 1. 9Qlg Qd

X 2. QUee ad
X 3.4IR% Qg
X 4.9Rd 949
Question ID : 630680453344
Option 1 ID : 6306801770387
Option 2 ID : 6306801770384
Option 3 ID : 6306801770386
Option 4 ID : 6306801770385
Status : Answered
Chosen Option : 1
Q.9 ensures that judges could function without fear or favour.
Ans X 1.Insecurity of tenure
@ 2. Security of tenure
#< 3. Independence of executives
X 4. President
Question ID : 630680453383
Option 1 ID : 6306801770541
Option 2 ID : 6306801770540
Option 3 ID : 6306801770542
Option 4 ID : 6306801770543
Status : Answered
Chosen Option : 3
Q.10 Odisha Cabinet approved scheme (July 2023), under which measures will be
taken to augment rural infrastructure, leading to accelerated growth as well as to
promote, preserve and protect the Jagannath culture and tradition of the state.
Ans X 1.Nabin Odisha'
#< 2. Ama Odisha'
«” 3. Ama Odisha Nabin Odisha’
#< 4. Ama Odisha Sona Odisha'
Question ID : 630680453335
Option 1 ID : 6306801770350
Option 2 ID : 6306801770351
Option 3 ID : 6306801770348
Option 4 ID : 6306801770349
Status : Answered
Chosen Option : 3

Section : Part 1 Reasoning Ability




Q1

Pointing to a woman in the photograph Suresh says, "She is the only daughter of my sister's mother". How is Suresh related to the

woman?
Ans X 1. Husband
+ 2. Brother
X 3. Son
X 4. Father
Question ID : 630680453291
Option 1 ID : 6306801770173
Option 2 ID : 6306801770174
Option 3 ID : 6306801770175
Option 4 ID : 6306801770172
Status : Answered
Chosen Option : 2
Q.2  There are 195 boxes kept one above the other. What will be the position of the box from the top whose position from the bottom is
88th?
Ans 1. 108th
X 2. 110th
X 3. 107th
X 4. 115th
Question ID : 630680453315
Option 1 ID : 6306801770270
Option 2 ID : 6306801770271
Option 3 ID : 6306801770269
Option 4 ID : 6306801770268
Status : Answered
Chosen Option : 1
Q.3 Inacertain code language, if MIRROR is coded as '97", STUDY is coded as '94", then what will DRESSING be coded as?
Ans X 1. 05
X2 108
3. 103
X 4. 08
Question ID : 630680453297
Option 1 ID : 6306801770196
Option 2 ID : 6306801770199
Option 3 ID : 6306801770198
Option 4 ID : 6306801770197
Status : Answered
Chosen Option : 3




Q.4 Select the option that is related to the third number in the same way as the second number is related to the first number.
10:1000::11:?

Ans 1. 1331
X2 1221
X3 1121
X 4. 1231

Question ID : 630680453279
Option 1 ID : 6306801770127
Option 2 ID : 6306801770125
Option 3 ID : 6306801770124
Option 4 ID : 6306801770126
Status : Answered
Chosen Option : 1

Q.5  gen gn 958 5614 69 ¥9° §ela I8 98¢ 6gd g% 6aR 9ede, 69807 0Bd g8 98¢ 99hHe GaT0 08 A9l |
CHINA: YUAN :: COLOMBIA : PESO :: EGYPT : ?

Ans X 1. DOLLAR
X 2. RUPIAH
« 3. POUND
X 4 RIAL

Question ID : 630680453303
Option 1 ID : 6306801770221
Option 2 ID : 6306801770222
Option 3 ID : 6306801770220
Option 4 ID : 6306801770223
Status : Not Answered
Chosen Option : ==

Q.6  Five students are sitting on a bench facing north. Joey is to the immediate left of Ross and to the immediate right of Chandler. Phoebe
is to the right of Ross. Monica is between Ross and Phoebe. Who is sitting to the immediate right of Monica?

Ans X 1. Chandler
X 2. Ross
X 3. Joey

« 4. Phoebe

Question ID : 630680453321

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801770293
6306801770292
6306801770295
6306801770294
Answered

4




Q7

Four letter-clusters have been given. out of which three are alike in some manner and one is different. Select the odd letter-cluster.

Ans X 1. LMK
X2 STR
« 3. BCD
X4 ZAY
Question ID : 630680453309
Option 1 ID : 6306801770246
Option 2 ID : 6306801770245
Option 3 ID : 6306801770247
Option 4 ID : 6306801770244
Status : Answered
Chosen Option : 3
Q.8 If Adenotes ‘addition’, B denotes ‘multiplication*, C denotes *subtraction’, and D denotes *division’, then what will be the value of
the following equation?
SATB8D4C6="
Ans #7113
X2 3
X3 26
X4 8
Question ID : 630680453273
Option 1 ID : 6306801770102
Option 2 ID : 6306801770100
Option 3 ID : 6306801770103
Option 4 ID : 6306801770101
Status : Answered
Chosen Option : 1
Q.9  Three Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to
be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the statements.
Statements:
Statement I: Some angles are acute.
Statement II: Some angles are obtuse,
Statement IIT : Some angles are reflex.
Conclusions:
Conclusion I: Some acute are reflex.
Conclusion II: No obtuse is a reflex.
Ans X 1. Only conclusion II follows
X 2. Only conclusion I follows
X 3. Both conclusions I and II follow
« 4 Neither conclusion I nor II follows
Question ID : 630680453327
Option 1 ID : 6306801770317
Option 2 ID : 6306801770316
Option 3 ID : 6306801770318
Option 4 ID : 6306801770319
Status : Answered
Chosen Option : 4




Q10 Arrange the given words in the alphabetical order.

1. REATM
2. READ
3. RISE
4 REACH
5. RINSE
Ans 1. 42153
X2 41325
X 3 31542
X 4 34215
Question ID : 630680453285
Option 1 ID : 6306801770150
Option 2 ID : 6306801770151
Option 3 ID : 6306801770149
Option 4 ID : 6306801770148
Status : Answered
Chosen Option : 1
Section : Part 1 Computer Literacy
Q1 60 65eaEd° £Qlag 0SI 76eR, CIF1 AT CRAQ QU6 FlF |6Q?
Ans X' 1.@9
¥ 2.99
< 3. FlAQEIR
&K 4. 0999
Question ID : 630680452706
Option 1 ID : 6306801767837
Option 2 ID : 6306801767838
Option 3 ID : 6306801767839
Option 4 ID : 6306801767836
Status : Not Answered
Chosen Option : ==
Q.2 What is the function of the BIOS (Basic Input/Output System) in a computer?
Ans X 1. Managing network connections
«” 2. Loading the operating system at startup
#< 3. Running antivirus software
#< 4. Rendering graphics
Question ID : 630680452718
Option 1 ID : 6306801767884
Option 2 ID : 6306801767885
Option 3 ID : 6306801767886
Option 4 ID : 6306801767887
Status : Answered
Chosen Option : 2




Q3 FYRYS FRIP 690F 6208 FNG FLT°Q 81 6TEYY?

Ans o 1. SIEQl Agalel 2°ARIF 64lIGlI&l (On-demand resource provisioning)
X 2. 6990 IR0 6]169.Q (Local storage only)
&K 3.@@ agel el (High upfront costs)
X 4. 218@ AI9R196! (Limited scalability)

Question ID : 630680452724
Option 1 ID : 6306801767910
Option 2 ID : 6306801767909
Option 3 ID : 6306801767911
Option 4 ID : 6306801767908
Status : Answered
Chosen Option : 1
Q.4 @Qﬂlﬁg 6916511911 AQGIRAER I8 69 IR (1€ 69<) S page file (swap space) Q
@QELeY @617
Ans 1. Q0 QYSL0 6dIgiFl GISI 6]IQ KR!
X 2. 969 219104 ISR 291!
X 3. 2592 RAM 694 dQIg Q9%
X 4. AN REAERTY FIRM 6RIQ K2R
Question ID : 630680452730
Option 1 ID : 6306801767934
Option 2 ID : 6306801767935
Option 3 ID : 6306801767933
Option 4 ID : 6306801767932
Status : Answered
Chosen Option : 3
Q.5 What is the primary ethical concern related to the use of autonomous vehicles?
Ans 1. Potential accidents and liability
#< 2. Higher insurance premiums
#< 3. Traffic congestion
#< 4. Environmental impact
Question ID : 630680452712
Option 1 ID : 6306801767862
Option 2 ID : 6306801767860
Option 3 ID : 6306801767863
Option 4 ID : 6306801767861
Status : Answered

Chosen Option :

1

Section : Part 1 Child Development Learning Curriculum and Assessment




Q.1 What role do teachers play in an inclusive education setting?
Ans X 1. Separating students based on abilities.

o 2. Adapting teaching styles to meet diverse learning needs.
#5 3. Focusing on a single teaching method.

#< 4. Focusing only on high achievers.

Question ID : 630680452883
Option 1 ID : 6306801768546
Option 2 ID : 6306801768545
Option 3 ID : 6306801768547
Option 4 ID : 6306801768544
Status : Answered
Chosen Option : 2
Q.2 During curriculum development, why is the integration of teaching resources like
textbooks, digital tools, and activity kits emphasized?
Ans X 1. To replace the role of teachers.
«” 2. To complement and enrich the curriculum delivery.
#< 3. To increase school expenditure.
#5 4. To limit hands-on activities.
Question ID : 630680452871
Option 1 ID : 6306801768498
Option 2 ID : 6306801768497
Option 3 ID : 6306801768496
Option 4 ID : 6306801768499
Status : Answered
Chosen Option : 2
Q.3 The primary consideration in all actions concerning children, as stated by the CRC,
should be:
Ans X 1. Societal norms.
#< 2. Economic feasibility.
#< 3. Parental convenience.
o 4. The best interests of the child.
Question ID : 630680452859
Option 11D : 6306801768451
Option 2 ID : 6306801768448
Option 3 ID : 6306801768449
Option 4 ID : 6306801768450
Status : Answered
Chosen Option : 4
Q.4 Which characteristic best describes the activity-based approach?
Ans X 1.Passive listening
#< 2. Rote memorization
o 3. Active participation
25 4. Exam-oriented
Question ID : 630680452847
Option 1 ID : 6306801768400
Option 2 ID : 6306801768401
Option 3 ID : 6306801768402
Option 4 ID : 6306801768403
Status : Answered
Chosen Option : 3




Q.5 Which statement is most accurate about individual learning pace among students?
Ans X 1. The pace of learning is solely determined by the teacher's teaching speed.
5 2. All students learn best in a uniformly paced environment.

/< 3. Faster learners are always more intelligent than slower learners.

o 4. Each student has a unique learning pace, which may vary across subjects.

Question ID : 630680452931
Option 1 ID : 6306801768739
Option 2 ID : 6306801768736
Option 3 ID : 6306801768737
Option 4 ID : 6306801768738
Status : Answered
Chosen Option : 4
Q.6 Which aspect of the home environment is crucial for fostering a child's cognitive
development and emotional well-being?
Ans X 1. Proximity to neighbors.
¥ 2. Parental involvement and stimulation.
25 3. Number of toys available.
/< 4. Size of the house.
Question ID : 630680452913
Option 1 ID : 6306801768667
Option 2 ID : 6306801768666
Option 3 ID : 6306801768665
Option 4 ID : 6306801768664
Status : Answered
Chosen Option : 2
Q.7 Which phase of curriculum development involves determining the structure, content,
and sequence of topics?
Ans  «# 1. Designing
< 2. Pilot Testing.
75 3. Evaluation
#< 4. Implementation
Question ID : 630680452865
Option 1 ID : 6306801768474
Option 2 ID : 6306801768473
Option 3 ID : 6306801768472
Option 4 ID : 6306801768475
Status : Answered
Chosen Option : 1
Q.8 Which benefit is NOT directly associated with the education of the girl child?
Ans X 1.Decreased child marriages.
75 2. Improved child health.
/< 3. Enhanced national economic growth.
" 4. Increase in gender disparities.
Question ID : 630680452877
Option 1 ID : 6306801768521
Option 2 ID : 6306801768523
Option 3 ID : 6306801768520
Option 4 ID : 6306801768522
Status : Answered
Chosen Option : 1




Q.9 How does the NCF-2005 view multilingualism in the educational context?
Ans  # 1. Aresource for the enrichment of the curriculum.

/< 2. As an unnecessary complication.
#< 3. Achallenge to be avoided.

#< 4. Only useful for international relations.

Question ID : 630680452907
Option 1 ID : 6306801768642
Option 2 ID : 6306801768641
Option 3 ID : 6306801768640
Option 4 ID : 6306801768643
Status : Answered
Chosen Option : 1
Q.10 Which aspect of questioning promotes higher-order thinking among students?
Ans X 1.Encouraging closed-ended questions.
o 2. Probing with open-ended questions.
#5 3. Asking factual recall questions.
75 4. Repeating the same question for clarity.
Question ID : 630680452901
Option 1 ID : 6306801768617
Option 2 ID : 6306801768618
Option 3 ID : 6306801768616
Option 4 ID : 6306801768619
Status : Answered
Chosen Option : 2
Q.11 What is the main emphasis of a competency-based approach?
Ans X 1. Group discussions
75 2. Memorizing facts for exams
#X 3. Passive learning
¥ 4. Achieving specific skills to mastery
Question ID : 630680452853
Option 1 ID : 6306801768426
Option 2 ID : 6306801768424
Option 3 ID : 6306801768427
Option 4 ID : 6306801768425
Status : Answered
Chosen Option : 4
Q.12 In the context of cognitive development, which stage, as proposed by Jean Piaget,
characterizes early childhood where children engage in symbolic play and struggle
with the concept of conservation?
Ans X 1. Sensorimotor
75 2. Concrete operational.
#< 3. Formal operational.
«* 4. Preoperational
Question ID : 630680452919
Option 1 ID : 6306801768688
Option 2 ID : 6306801768690
Option 3 ID : 6306801768691
Option 4 ID : 6306801768689
Status : Answered
Chosen Option : 4




Q.13 A child who is unable to communicate with peers or follow simple instructions by age

4 might be exhibiting signs of:

Ans X 1.Introverted personality traits.
25 2. Advanced cognitive abilities.
75 3. Typical adolescent behavior.

«” 4. Developmental delays.

Question ID : 630680452925
Option 1 ID : 6306801768715
Option 2 ID : 6306801768712
Option 3 ID : 6306801768713
Option 4 ID : 6306801768714
Status : Answered
Chosen Option : 4
Q.14 What is a primary advantage of using checklists in cl oom nents?
Ans X 1. They offer a platform for long-form answers.
#< 2. They allow for subjective interpretation of student behavior.
«” 3. They provide a systematic, objective way to track predefined criteria.
/X 4. They cater to the evaluation of abstract concepts.
Question ID : 630680452889
Option 1 ID : 6306801768568
Option 2 ID : 6306801768569
Option 3 ID : 6306801768570
Option 4 ID : 6306801768571
Status : Answered
Chosen Option : 3
Q.15 In preparing a unit test, why might an educator include questions that integrate
knowledge from previous units?
Ans  «# 1. To check cumulative understanding and interconnectedngss of topics.
#< 2. Because they ran out of questions from the current unit.
75 3. Solely to increase the length of the test.
#< 4. To confuse the students.
Question ID : 630680452895
Option 1 ID : 6306801768593
Option 2 ID : 6306801768595
Option 3 ID : 6306801768594
Option 4 ID : 6306801768592
Status : Answered
Chosen Option : 1

Section : Part Il Subject Contents




Q1

Find the surface area of the cuboid whose length, breadth and height are 13 cm, 11 cm and 9 cm respectively

Ans X 1. 612 cm?
2. 718 cm?
X 3. 810 cm?
X 4. 710 cm?
Question ID : 630680453600
Option 1 ID : 6306801771411
Option 2 ID : 6306801771410
Option 3 ID : 6306801771409
Option 4 ID : 6306801771408
Status : Answered
Chosen Option : 2
Q.2 The given bar graph shows the total number of patients admitted to the Fortis Hospital from 2018 to 2022, The number of patients
admitted in 2019 is what percent of the patients admitted in 2022.
100,000
| oo
g 60,000 50,000
% 50,000 42,000
§ w0
e = I
:W.W: .
Years
Ans X' 1. 33%
¢ 2. 25%
X 3. 20%
X4 22%
Question ID : 630680453558
Option 1 ID : 6306801771240
Option 2 ID : 6306801771242
Option 3 ID : 6306801771243
Option 4 ID : 6306801771241
Status : Answered
Chosen Option : 2




Q.3  The given pie-chart shows the percentage distribution of students in 5 different schools in a city. Find the number of students in
school D if the total number of students is 6400.

Percentage distribution of

h

d in 5 dif

Ans X 1. 1440
o 2. 1280
&< 3. 1900
X4 1120
Question ID : 630680453552
Option 1 ID : 6306801771218
Option 2 ID : 6306801771217
Option 3 ID : 6306801771219
Option 4 ID : 6306801771216
Status : Answered
Chosen Option : 2
Q4 Find the value of 52500 + 5+ 648 + 6 - 1500
Ans 1. 9108
<2 9100
<3 8109
X 4 8140
Question ID : 630680453576
Option 1 ID : 6306801771312
Option 2 ID : 6306801771315
Option 3 ID : 6306801771314
Option 4 ID : 6306801771313
Status : Answered
Chosen Option : 1
Qs e B 7 21
Find the value of — + — of 44 - — + =
2 22 10
Ans X112
<2 10
3 14
<411
Question ID : 630680453594
Option 1 ID : 6306801771387
Option 2 ID : 6306801771384
Option 3 ID : 6306801771385
Option 4 ID : 6306801771386
Status : Answered
Chosen Option : 3




Q.6

. 4 5 9 2
Find the valueof - + = x=+=
b 7 11 5
Ans 57
¥ 120
55
o 19
55
o 4
55
58
o4
55
Question ID : 630680453582
Option 1 ID : 6306801771337
Option 2 ID : 6306801771338
Option 3 ID : 6306801771339
Option 4 ID : 6306801771336
Status : Answered
Chosen Option : 4
Q.7  Sameer visited a museum. He stayed there for 3 hours 24 minutes and came back at home. If he reached the museum at 1:35 p.m.
when did he leave for his home?
Ans X 1. 4:35 a.m.
2. 4:59 p.m.
X3 4:59 am.
X 4 5:00 p.m.
Question ID : 630680453563
Option 1 ID : 6306801771260
Option 2 ID : 6306801771262
Option 3 ID : 6306801771263
Option 4 ID : 6306801771261
Status : Answered
Chosen Option : 2
Q.8 Aclockis set to show the correct time at 9:25 a.m. The clock gains 15 minutes in 5 hours. What time will the clock show at 3:25 pm
the next day?
Ans 1. 4:55 p.m.
X 2. 2:55 p.m.
X3 12:35 pm.
X 4. 3:25 p.m.
Question ID : 630680453570
Option 11D : 6306801771291
Option 2 ID : 6306801771288
Option 3 ID : 6306801771289
Option 4 ID : 6306801771290
Status : Answered
Chosen Option : 1




Q.9  Acertain number of students can be arranged in groups of 14, 28, 35 or 70 with no student left behind. Find the number of students.

Ans X 1. 210
<2 60
« 3 140
X 4. 100
Question ID : 630680453588
Option 1 ID : 6306801771360
Option 2 ID : 6306801771362
Option 3 D : 6306801771361
Option 4 ID : 6306801771363
Status : Answered
Chosen Option : 3
Q10 Which of the following are the pairs of supplementary angles?
Ans X 1. 87° and 83°
X2 113°and 77°
X 3. 135°and 47°
4. 102°% and 78°
Question ID : 630680453606
Option 1 ID : 6306801771432
Option 2 ID : 6306801771435
Option 3 ID : 6306801771434

Option 4 ID : 6306801771433
Status : Answered
Chosen Option : 4

Q.11 Which of the following is not a heat transfer method of matters?
Ans X 1.Convention

#< 2. Conduction
#< 3. Radiation
o 4. Vibration

Question ID : 630680453242
Option 1 ID : 6306801769977
Option 2 ID : 6306801769979
Option 3 ID : 6306801769976
Option 4 ID : 6306801769978
Status : Answered
Chosen Option : 4

Q.12 During the year 2021-22, mineral production was highest in which of the following
states?

Ans X 1. Uttar Pradesh
X 2.Goa

«” 3. Odisha

/5 4. Uttarakhand

Question ID : 630680453266

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801770072
6306801770073
6306801770074
6306801770075
Answered

3




Q.13 Smog is made up of :
Ans X 1.Smoke and particulate matter

«” 2. Smoke and Fog
#< 3. Smoke and Aitken particles
#< 4. Smoke and Dew droplets

Question ID : 630680453218
Option 1 ID : 6306801769883
Option 2 ID : 6306801769880
Option 3 ID : 6306801769882
Option 4 ID : 6306801769881
Status : Answered
Chosen Option : 2

Q.14 Which of the following is not a river that flows through Odisha?
Ans X 1.Brahmani

#< 2. Salandi
< 3. Mahanadi
¥ 4. Jhelum

Question ID : 630680453260
Option 1 ID : 6306801770050
Option 2 ID : 6306801770051
Option 3 ID : 6306801770048
Option 4 ID : 6306801770049
Status : Answered
Chosen Option : 4

Q.15 In which of the following year, NGT was established in India?
Ans X 1.2012

X 2.2014
& 3.2010
X 4.2016

Question ID : 630680453212
Option 1 ID : 6306801769857
Option 2 ID : 6306801769858
Option 3 ID : 6306801769856
Option 4 ID : 6306801769859
Status : Not Answered
Chosen Option : ==

Q.16 The change in temperature of a substance, when a given quantity of heat is absorbed
or rejected by it, is characterised by a quantity called the of that substance.

Ans  «# 1. Heat Capacity
< 2. Warm Capacity
#< 3. Cold Capacity
/5 4. Hot Capacity

Question ID : 630680453248
Option 1 ID : 6306801770000
Option 2 ID : 6306801770003
Option 3 ID : 6306801770001
Option 4 ID : 6306801770002
Status : Answered
Chosen Option : 1




Q.17 g99I9 AR QATLIS ACATIAG (HSRA) 666 4 QITE 6QIRARNI?
Ans X 1.1927

£ 2.1929
25 3.1930
o 4.1928
Question ID : 630680453230
Option 1 ID : 6306801769928
Option 2 ID : 6306801769930
Option 3 ID : 6306801769931
Option 4 ID : 6306801769929
Status : Not Answered
Chosen Option : --
Q.18 Which of the following is not a blood group?
Ans o 1. AA
X 2.A
X 3.AB
X 4.B
Question ID : 630680453236
Option 1 ID : 6306801769955
Option 2 ID : 6306801769952
Option 3 ID : 6306801769954
Option 4 ID : 6306801769953
Status : Answered
Chosen Option : 1
Q.19 Water makes up almost of our body weight.
Ans # 1.70
K 2.60
X 3.65
X 4.75
Question ID : 630680453224
Option 1 ID : 6306801769906
Option 2 ID : 6306801769904
Option 3 ID : 6306801769905
Option 4 ID : 6306801769907
Status : Answered
Chosen Option : 1
Q.20 Odisha is divided into how many agroclimatic zones?
Ans X 1.11
o 2.10
X 3.9
X 4.8
Question ID : 630680453254
Option 1 ID : 6306801770027
Option 2 ID : 6306801770026
Option 3 ID : 6306801770025
Option 4 ID : 6306801770024
Status : Not Answered

Chosen Option :




Q.21 Complete the sentence with the appropriate article to make it grammatically correct.

He is studying __ history of ancient civilizations.
Ans X 1.a
< 2.some
«” 3. the
X 4.an
Question ID : 630680453732
Option 1 ID : 6306801771881
Option 2 ID : 6306801771883
Option 3 ID : 6306801771882
Option 4 ID : 6306801771880
Status : Answered
Chosen Option : 3
Q.22 Fill in the blank with the correct adverb.
The children laughed as they played in the park, enjoying the sunny day.
Ans X 1.silently
K 2. furiously
< 3. mysteriously
o 4. merrily
Question ID : 630680453744
Option 1 ID : 6306801771929
Option 2 ID : 6306801771931
Option 3 ID : 6306801771930
Option 4 ID : 6306801771928
Status : Answered
Chosen Option : 4
Q.23 Fill in the blank with the correct preposition.
She found her lost keys the sofa cushions.
Ans X 1.inside
o 2. nextto
/< 3.instead of
25 4. in spite of
Question ID : 630680453756
Option 1 ID : 6306801771976
Option 2 ID : 6306801771978
Option 3 ID : 6306801771979
Option 4 ID : 6306801771977
Status : Answered
Chosen Option : 2




Q.24 The word given in the brackets defines the modification of the noun. Based on this

understanding fill in the blank with the correct adjective from the given options.
sunsets over the serene lake provided the perfect backdrop for

The (calming)
a romantic evening.

Ans X 1.cheerful

< 2. endless
#< 3. chaotic
« 4. tranquil
Question ID : 630680453738
Option 1 ID : 6306801771907
Option 2 ID : 6306801771905
Option 3 ID : 6306801771906
Option 4 ID : 6306801771904
Status : Not Answered
Chosen Option : ==
Q.25 Fill in the blank with the correct irregular verb.
She her keys in the car and couldn't get inside.
Ans X 1.forget
&K 2. forgets
o 3. forgot
/5 4. forgotten
Question ID : 630680453762
Option 1 ID : 6306801772000
Option 2 ID : 6306801772001
Option 3 ID : 6306801772003
Option 4 ID : 6306801772002
Status : Answered
Chosen Option : 3
Q.26 Complete the sentence with the correct form of the tense:
By the time you arrive, we a delicious meal.
Ans X 1. will be cooking
#< 2. have cooked
75 3. are cooking
" 4. will cook
Question ID : 630680453780
Option 1 ID : 6306801772075
Option 2 ID : 6306801772072
Option 3 ID : 6306801772074
Option 4 ID : 6306801772073
Status : Answered
Chosen Option : 2




Q.27 Complete the sentence with the correct form of the tense:
By the time we arrived, they their decision.

Ans o 1. had made
X 2. make
< 3. made
< 4. have made

Question ID : 630680453786
Option 1 ID : 6306801772098
Option 2 ID : 6306801772097
Option 3 ID : 6306801772096
Option 4 ID : 6306801772099
Status : Answered
Chosen Option : 4
Q.28 Fill in the blank with the correct common noun.
The doctor prescribed a new to treat the patient's illness.
Ans X 1. hospital
/< 2. diagnosis
«” 3. medicine
X 4. disease
Question ID : 630680453750
Option 1 ID : 6306801771954
Option 2 ID : 6306801771953
Option 3 ID : 6306801771952
Option 4 ID : 6306801771955
Status : Answered
Chosen Option : 3
Q.29 Choose the correct punctuation from the given options:
She wondered whether he had finished the project on time
Ans X 1.question mark
< 2. comma
#< 3. colon
« 4. full stop
Question ID : 630680453774
Option 1 ID : 6306801772050
Option 2 ID : 6306801772049
Option 3 ID : 6306801772051
Option 4 ID : 6306801772048
Status : Answered
Chosen Option : 4




Q.30 Choose the correct punctuation from the given options:

The car broke down on the highway
#< 1. full stop
& 2. comma

Ans

< 3. question mark
#< 4. apostrophe

we had to call for assistance.

Question ID : 630680453768
Option 1 ID : 6306801772024
Option 2 ID : 6306801772025
Option 3 ID : 6306801772026
Option 4 ID : 6306801772027
Status : Answered
Chosen Option : 2
Q.31 GegIa aq It FALISR T651QY ?
Ans X' 1.Q8gl
X 2.Qal
X 3.qud
o 4. 699l
Question ID : 630680453849
Option 1 ID : 6306801772351
Option 2 ID : 6306801772348
Option 3 ID : 6306801772349
Option 4 ID : 6306801772350
Status : Answered
Chosen Option : 4
Q.32 Qa1 2AGS’ F195R QeIRIE]IIS 618 266 ?
Ans X' 1. 29R
X 2,08
o 3. 29
K 4.an
Question ID : 630680453874
Option 1 ID : 6306801772448
Option 2 ID : 6306801772450
Option 3 ID : 6306801772451
Option 4 ID : 6306801772449
Status : Answered
Chosen Option : 3
Q.33 ‘geen SIRAI - 6QSIFES 99T 684 F65186l 2
Ans X 1.95Ql¢ G6596l
X 2. 591 G684l
X 3. 294% G644l
o 4. G6594Q 66194
Question ID : 630680453841
Option 1 ID : 6306801772319
Option 2 ID : 6306801772316
Option 3 ID : 6306801772318
Option 4 ID : 6306801772317
Status : Answered
Chosen Option : 4




Q.34 QI S95a eSS SR 688 2
Ans X 1.9g

&K 2.Qug
X 3.98
o 4.99
Question ID : 630680453863
Option 1 ID : 6306801772405
Option 2 ID : 6306801772407
Option 3 ID : 6306801772406
Option 4 ID : 6306801772404
Status : Not Answered
Chosen Option : --
Q.35 ‘B’ 999 FANe S195g Tl ?
Ans o 1. m9Y
X 2.9Q4l
X 3.9¢
&K 4. 6L
Question ID : 630680453870
Option 1 ID : 6306801772433
Option 2 ID : 6306801772435
Option 3 ID : 6306801772432
Option 4 ID : 6306801772434
Status : Answered
Chosen Option : 2
Q.36 ‘@aIf PITEr - RETR 22l ggeea |
Ans 1. QagIgg 627l
X 2. 6dQIoY QG 6241
X 3. 996 9GSl
X 4. 2016 629!
Question ID : 630680453885
Option 1 ID : 6306801772493
Option 2 ID : 6306801772494
Option 3 ID : 6306801772495
Option 4 ID : 6306801772492
Status : Answered
Chosen Option : 1
Q.37 ‘gql FlG6S §11e QI G‘I"éz" - geeada 212 gge ea |
Ans 1. gsﬁm 629R 26Q 26 Qla
&K 2,948 Qa6 Q8%
X 3. g88lq alglg
&K 4. 991969 Y 469 Qlé‘
Question ID : 630680453880
Option 1 ID : 6306801772473
Option 2 ID : 6306801772474
Option 3 ID : 6306801772475
Option 4 ID : 6306801772472
Status : Answered

Chosen Option :

1




Q.38 2egIfIes §65196 9e5g 580 aa ?
Ans 7 1. Goml QI

X 2.9 Gl
X 3. em dml
X 4.99M Q19
Question ID : 630680455421
Option 1 ID : 6306801778598
Option 2 ID : 6306801778601
Option 3 ID : 6306801778599
Option 4 ID : 6306801778600
Status : Answered
Chosen Option : 1
Q.39 ‘I SI9T6Q YIS @ﬂﬂd@ﬁi oge aq ?
Ans X' 1.9
X 2.99
o 3.4d9l
< 4.9
Question ID : 630680453854
Option 1 ID : 6306801772371
Option 2 ID : 6306801772370
Option 3 ID : 6306801772369
Option 4 ID : 6306801772368
Status : Answered
Chosen Option : 3
Q.40 «g6e” I9TQ 996 g ddasal
Ans X' 1.9§°+9
o 2. QQC+69
X 3. QQa+9
X 4.969+9
Question ID : 630680453859
Option 1 ID : 6306801772389
Option 2 ID : 6306801772391
Option 3 ID : 6306801772388
Option 4 ID : 6306801772390
Status : Answered
Chosen Option : 3

Section : Part Il Pedagogy




Q.1

Ans

AN Whitehead says * philosophers, when they have possessed a thorough knowledge of mathematics, have been among those who
have enriched science with some of its best ideas™. This means that:

< 1.
a good philosopher should be able to prove mathematical theorems

o 2.
a good philosopher should be a good mathematician too, who is well versed with mathematical ideas and techniques to evaluate the
validity of the truth and reality

X 3.
a good mathematician should learn philosophy to prove theorems

X 4. a good philosopher should not be a good mathematician

Question ID : 630680453527
Option 1 ID : 6306801771117
Option 2 ID : 6306801771119
Option 3 ID : 6306801771118
Option 4 ID : 6306801771116
Status : Answered
Chosen Option : 2
Q.2 Ateacher asked the students to find the squares of the first 10 natural numbers and to observe it clearly. Later she asked them to say
whether 425108 is a perfect square or not. The students answered that it is not. What could be the correct justification based on their
previous activity?
Ans The unit place of a perfect square cannot be 8.
4 and 25 are perfect squares.
4 is not a perfect square.
25 is a perfect square.
Question ID : 630680453533
Option 1 ID : 6306801771140
Option 2 ID : 6306801771143
Option 3 ID : 6306801771141
Option 4 ID : 6306801771142
Status : Answered
Chosen Option : 1
Q3 which of the options is correct in the context of the following statements?
(i) Mathematics is known as an “exact” science.
{ii) Mathematics has its own precision.
Ans X 1. (i) is true, and (ii) is not true.
« 2. Because of (ii), (i) happens.
X 3. No connection between (1) and (ii).
X 4. Because of (1), (i1) happens.
Question ID : 630680453521
Option 1 ID : 6306801771093
Option 2 ID : 6306801771094
Option 3 ID : 6306801771095
Option 4 ID : 6306801771092
Status : Answered
Chosen Option : 1




Q.4 A teacher asked the students whether v2 is rational or irrational. Which of the following is true with proper justification?

Ans X 1.

v’i cannot be marked on the number line and hence it is irrational.

2.

There does not exist natural numbers p and q such that V2 = 2, so it is irrational.
q

<3 vri lies between two rational mumbers: hence, it is rational.

< 4.

If we square v/2, we will get a rational mumber; so it is also rational.

Question ID : 630680453539
Option 1 ID : 6306801771165
Option 2 ID : 6306801771164
Option 3 ID : 6306801771167
Option 4 ID : 6306801771166
Status : Answered
Chosen Option : 2
5 s o
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Question ID : 630680453515
Option 1 ID : 6306801771071
Option 2 ID : 6306801771069
Option 3 ID : 6306801771070
Option 4 ID : 6306801771068
Status : Not Answered
Chosen Option : --
Q.6 The concept of using real plants, animals, or their models in teaching EVS to provide
practical knowledge is based on which principle?
Ans  # 1. Principle of Observation and Experimentation
#< 2. Principle of Theoretical Learning
#< 3. Principle of Bookish Learning
5 4. Principle of Rote Memorization
Question ID : 630680453200
Option 1 ID : 6306801769809
Option 2 ID : 6306801769808
Option 3 ID : 6306801769810
Option 4 ID : 6306801769811
Status : Answered

Chosen Option :

1




Q.7 What principle focuses on ensuring that EVS topics should be taught in a sequence,

moving from simple concepts to more complex ones?

Ans  «# 1. Principle of Graded Learning
#< 2. Principle of Correlation
#< 3. Principle of Complexity

#5 4. Principle of Integration

Question ID : 630680453206
Option 1 ID : 6306801769834
Option 2 ID : 6306801769835
Option 3 ID : 6306801769832
Option 4 ID : 6306801769833
Status : Answered
Chosen Option : 3
Q.8 Which of these is NOT a primary aim of teaching EVS?
Ans X 1. Instilling values for sustainable living
«” 2. Ensuring students can recite all data by heart
#< 3. Encouraging analytical thinking about environmental issues
/X 4. Promoting interdisciplinary learning
Question ID : 630680453188
Option 1 ID : 6306801769760
Option 2 ID : 6306801769762
Option 3 ID : 6306801769763
Option 4 ID : 6306801769761
Status : Answered
Chosen Option : 2
Q.9 Which of the following is crucial for cultivating a ‘'research-oriented' mindset in EVS
students?
Ans X 1. Relying only on one source of information
#5 2. Solely focusing on theoretical knowledge
75 3. Discouraging any form of questions
o 4. Encouraging curiosity and inquiry-based learning
Question ID : 630680453194
Option 1 ID : 6306801769787
Option 2 ID : 6306801769784
Option 3 ID : 6306801769785
Option 4 ID : 6306801769786
Status : Answered
Chosen Option : 4
Q.10 Why is it essential to study the concept and significance of EVS?
Ans X 1.To geta job in environmental agencies only.
75 2. To score good marks in exams.
#< 3. To focus only on the academic aspect of the environment.
«” 4. To become aware of environmental challenges and their impact.
Question ID : 630680453182
Option 1 ID : 6306801769737
Option 2 ID : 6306801769736
Option 3 ID : 6306801769739
Option 4 ID : 6306801769738
Status : Answered
Chosen Option : 4




Q.11 Which of the following components should individuals pay attention to if they want to

develop their speaking skills?
Ans  «# 1. Grammar, vocabulary, pronunciation

#< 2. Calligraphy, teamwork, empathy
75 3. Editing, vocabulary, fluency
#< 4. Grammar, empathy, spellings

Question ID : 630680453622
Option 1 ID : 6306801771495
Option 2 ID : 6306801771494
Option 3 ID : 6306801771493
Option 4 ID : 6306801771492
Status : Answered
Chosen Option : 1
Q.12 What should a teacher do in order to prevent inappropriate communication by non-
native speakers?
Ans X 1. Provide non-native speakers with regulations on penalty that will be levied in case of
errors.
/5 2. Make sure that the native speakers in the class take them to task whenever they
make mistakes.
«” 3. Offer guidelines on acceptable ways of addressing and communication etiquettes.
75 4. Make it compulsory for non-native speakers to produce an etiquette certificate.
Question ID : 630680453634
Option 1 ID : 6306801771543
Option 2 ID : 6306801771541
Option 3 ID : 6306801771542
Option 4 ID : 6306801771540
Status : Answered
Chosen Option : 3
Q.13 What is considered an important aspect of teaching poetry to learners?
Ans ¥ 1. Reading the poem aloud to students
X 2. Giving home assignments everyday
#< 3. Taking notes of every single word discussed in the class
< 4.80% speaking by teacher, 20% by students
Question ID : 630680453646
Option 1 ID : 6306801771588
Option 2 ID : 6306801771589
Option 3 ID : 6306801771590
Option 4 ID : 6306801771591
Status : Answered
Chosen Option : 1




Q.14 Fill in the blank:

Ans

< 1. intention

25 2. calculation
o 3. automaticity
5 4. cultivation

As per the principle of ,when we use a language, we cannot consciously think
about all the words and grammar that we are using. Some parts of language must be
readily available in our subconscious.

Question ID : 630680453640
Option 1 ID : 6306801771564
Option 2 ID : 6306801771565
Option 3 ID : 6306801771566
Option 4 ID : 6306801771567
Status : Answered
Chosen Option : 1
Q.15 Fill in the blank:
a branch of linguistics that studies how humans produce and perceive sounds.
Ans X 1. Philology
#5 2. Ethnography
#< 3. Anthropology
«” 4. Phonetics
Question ID : 630680453628
Option 1 ID : 6306801771516
Option 2 ID : 6306801771519
Option 3 ID : 6306801771518
Option 4 ID : 6306801771517
Status : Answered
Chosen Option : 4
Q.16 cqq AdgIea 62914 §181 QY69 dAVL “@IF g8” 4IRS afdem ?
Ans X' 1. ecss
o 2. 0089
X 3.ed9y
X 4.e089
Question ID : 630680453801
Option 1 ID : 6306801772156
Option 2 ID : 6306801772157
Option 3 ID : 6306801772159
Option 4 ID : 6306801772158
Status : Not Answered

Chosen Option :
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Question ID : 630680453812
Option 1 ID : 6306801772202
Option 2 ID : 6306801772201
Option 3 ID : 6306801772200
Option 4 ID : 6306801772203
Status : Answered
Chosen Option : 2
Q.18 QUIGQE SISIFIFER SUIGAEIG 696G QIR fOD FAAING?
Ans X 1.6
W 2.9
X 3%
X 4.8
Question ID : 630680453818
Option 1 ID : 6306801772226
Option 2 ID : 6306801772225
Option 3 ID : 6306801772227
Option 4 ID : 6306801772224
Status : Answered
Chosen Option : 1
Q.19 68Q 86! QUL AILNERN delel edidig ?
Ans X' 1.90%
o 2. 496
X 3. mee
X 4. 929
Question ID : 630680453808
Option 1 ID : 6306801772186
Option 2 ID : 6306801772184
Option 3 ID : 6306801772185
Option 4 ID : 6306801772187
Status : Answered
Chosen Option : 2
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Question ID : 630680453798
Option 1 ID : 6306801772145
Option 2 ID : 6306801772146
Option 3 ID : 6306801772144
Option 4 ID : 6306801772147
Status : Answered
Chosen Option : 3




